TS Register No: 1436/2021-2022 AS Register No:1474/2021-2022

## Community Micro Irrigation work at Kunnamkattypathy(Construction of Irrigationroom, water sump) in Kozhinjampara Panchayath in Palakkad District

## **Detailed Estimate**

(Dsor year: 2018, Cost Index Applied for this estimate is 34.75%)

SI No	Description	No	L	В	D	CF	Quantity	Remark
	1 APPE	ENDIX A-	CONSTRUC	TION OF IF	RRIGATION	ROOM		
1	2.31 Clearing jungle including to 30 cm measured at a m outside the periphery	height of	1 m above (	-				_
	Irrigation room (8mX9m)	1	10.000	11.000			110.000	
		/	GF 9		Tota	al Quantity	110.000 s	qm
		1 1		To	otal Deducte	d Quantity	0.000 sqm	l
		15	100		Net Tota	al Quantity	110.000 s	qm
	100		Say	y 110.000 s	qm @ Rs 14	.69 / sqm	Rs 16	15.90
	(exceeding 30 cm in de earth, lead up to 50 m a soil	-				,		excava
	earth, lead up to 50 m a	-				,	disposal of	excava
	earth, lead up to 50 m a	-				,	disposal of	excava
	earth, lead up to 50 m a soil	and lift up	to 1.5 m, dis	posed earth	to be level	,	disposal of atly dressed.	excava
	earth, lead up to 50 m a soil  Trapezoidal Footing	and lift up	1.800	posed earth	1.800	,	disposal of atly dressed.	excava
	earth, lead up to 50 m a soil  Trapezoidal Footing	and lift up  9  3	1.800 9.000	1.800 0.300	1.800 0.200	,	disposal of atly dressed.  52.489  1.620	excava
	earth, lead up to 50 m a soil  Trapezoidal Footing  PCC for Plinth Beam	9 3 3	1.800 9.000 7.600	1.800 0.300 0.300	1.800 0.200 0.200 0.400	,	52.489 1.620 1.368	excava All kinds
	earth, lead up to 50 m a soil  Trapezoidal Footing  PCC for Plinth Beam	9 3 3	1.800 9.000 7.600	1.800 0.300 0.300 0.300	1.800 0.200 0.200 0.400	led and nea	52.489 1.620 1.368 0.456	excava All kinds
	earth, lead up to 50 m a soil  Trapezoidal Footing  PCC for Plinth Beam	9 3 3	1.800 9.000 7.600	1.800 0.300 0.300 0.300	1.800 0.200 0.200 0.400 Total Deducte	led and nea	52.489 1.620 1.368 0.456 55.933 cui	excava All kinds
	earth, lead up to 50 m a soil  Trapezoidal Footing  PCC for Plinth Beam	9 3 3	1.800 9.000 7.600 2+1.8	1.800 0.300 0.300 0.300	1.800 0.200 0.200 0.400 Total Deducte	al Quantity d Quantity al Quantity	52.489 1.620 1.368 0.456 55.933 cui 55.933 cui	excava All kinds
3	earth, lead up to 50 m a soil  Trapezoidal Footing  PCC for Plinth Beam	9 3 3 1	1.800 9.000 7.600 2+1.8	1.800 0.300 0.300 0.300 To	1.800 0.200 0.200 0.400 Total Deducte Net Tota m @ Rs 212	al Quantity d Quantity al Quantity 2.70 / cum	52.489 1.620 1.368 0.456 55.933 cui 0.000 cum 55.933 cui Rs 118	excava All kinds m m 896.95
3	earth, lead up to 50 m a soil  Trapezoidal Footing  PCC for Plinth Beam  Office room  4.1.8  Providing and laying in shuttering - All work up	9 3 3 1	1.800 9.000 7.600 2+1.8	1.800 0.300 0.300 0.300 To	1.800 0.200 0.200 0.400 Total Deducte Net Tota m @ Rs 212	al Quantity d Quantity al Quantity 2.70 / cum	52.489 1.620 1.368 0.456 55.933 cui 0.000 cum 55.933 cui Rs 118	excavat All kinds m m 896.95

	Flooring	1	7.600	8.600	0.100		6.537	
	Trapezoidal Footing	9	1.800	1.800	0.100		2.917	
	PCC for Plinth Beam	3	9.000	0.300	0.100		0.810	
		3	7.600	0.300	0.100		0.684	
	Office room foundation	1	2+1.8	0.300	0.100		0.114	
					Tot	al Quantity	13.852 cu	ım
				To	otal Deducte	ed Quantity	0.000 cun	n
					Net Tot	al Quantity	13.852 cu	ım
			Sav	13.852 cum	n @ Rs 6772		Rs 93	815.02
	Providing and laying in centering, shuttering, fin sand :3 graded stone ag	ishing and	d reinforceme	ent - All worl			•	
		9	1.500	1.500	0.230	4	5.003	
	1/3*(A1+A2+(sqrA1*A 2))*H	9	1/3	3.370	0.250	1	2.528	
	stub columns	9	0.600	0.400	1.200		2.592	
	Plinth beam	ther E	9.000	0.200	0.450	110 C	2.430	
		3	7.600	0.200	0.450	1115	2.052	
			R		Tot	al Quantity	14.665 cu	ım
				To	otal Deducte	d Quantity	0.000 cun	n
					Net Tot	al Quantity	14.665 cu	ım
			Say	14.665 cum	n @ Rs 9028	3.86 / cum	Rs 13	2408.23
5	2.25 Filling available excavat exceeding 20 cm in dep and lift up to 1.5 m.	,		,				•
	basement	1	8.600	7.600	0.350		22.876	
					Tot	al Quantity	22.876 cu	ım
				To	otal Deducte	ed Quantity	0.000 cun	n
					Net Tot	al Quantity	22.876 cu	ım
			Sa	y 22.876 cu	m @ Rs 256	6.97 / cum	Rs 5	878.45
6	7.1.1 Random rubble mason concrete 1:6:12 (1 ceme	•			•	_	• .	

	foundation for office room	1	3.800	0.300	0.300		0.342	
			•	1	Tot	al Quantity	0.342 cum	1
				To	otal Deducte	ed Quantity	0.000 cum	า
					Net Tot	al Quantity	0.342 cum	1
			Sa	y 0.342 cum	n @ Rs 7160	0.14 / cum	Rs 24	148.77
7	50.6.1.4 Solid block masonry usin size confirming to IS 218 1:6 ( 1 cement : 6 coarse	5 part I	of 1979 for fo	,	•			
	wall	2	8.000	0.200	3.600		11.521	
	wall	2	8.600	0.200	3.600		12.384	
	Office room wall	1	2.000	0.200	3.600		1.441	
	Office Room wall	1	1.800	0.200	3.600		1.297	
	D2	1	0.800	0.200	2.100	L.	-0.336	
	Rolling Shutter	1	2.000	2.100	2.100		-8.820	
	W1	2	2.000	0.200	1.500		-1.200	
	W2 Ot	het E	ngi1:500 ri	0.200 g	an1.500i	ns	-0.450	
	V1	1	0.600	0.200	0.600		-0.072	
	Colums	9	0.400	0.200	3.600	1	-2.592	
	Beam- resting on column	2	9.000	0.200	0.300		-1.080	
	Beam- resting on column	2	7.600	0.200	0.300		-0.911	
					Tot	al Quantity	26.643 cu	m
				To	otal Deducte	ed Quantity	-15.461 cı	ım
					Net Tot	al Quantity	11.182 cu	m
			Say	11.182 cum	n @ Rs 593	3.66 / cum	Rs 66	350.19
8	5.2.2 Reinforced cement conciund and string courses, fillets excluding cost of centering graded stone aggregates.	s, colum ng, shutt	ns, pillars, pi	ers, abutmeng and reinfo	ents, posts a	and struts et	tc. up tot flo	or five l
				1	,	,		

				To	otal Deducte	d Quantity	0.000 cum	1
					Net Tota	al Quantity	2.593 cum	1
			Say	2.593 cum	@ Rs 10886	3.18 / cum	Rs 28	227.86
9	5.3 Reinforced cement conbalconies, shelves, chafive level excluding the 1.5 coarse sand (Zone	jjas, lintels cost of cer	, bands, plai ntering, shutt	n window si tering, finish	ills, staircase ning and reir	es and spira nforcement,	al stair cases	s up to floo
	Flat shade	3	2.600	0.600	0.100		0.469	
		1	2.100	0.600	0.100		0.126	
		1	1.200	0.600	0.100		0.072	
	Flat slab	1	8.200	9.200	0.120		9.053	
	Lintel beam	2	8.000	0.200	0.150		0.480	
		2	8.6000	0.200	0.150		0.516	
	Lintel beam Office room	1	3.800	0.200	0.150		0.114	
	Beam- resting on column	2	9.000	0.200	0.300		1.080	
	Beam- resting on column	ther Er	7.600 gineeri	0.200 ng Orga	0.300 anisatio	ns	0.912	
	Counter beam	1	9+8	0.200	0.450		1.531	
					Tota	al Quantity	14.353 cu	m
				To	tal Deducte	d Quantity	0.000 cun	1
					Net Tota	al Quantity	14.353 cu	m
			Say 1	4.353 cum	@ Rs 11421	.68 / cum	Rs 163	3935.37
10	5.22.6 Steel reinforcement for binding all complete up		_		•	•		
	Trapezoidal footing	9	1.500	1.500	0.250	100.0	506.250	
	1/3*(A1+A2+(sqrA1*A 2))*H	9	1/3	3.370	0.250	100.0	252.750	
	stub columns	9	0.400	0.200	1.200	100.0	86.400	
	Plinth beam	3	9.000	0.200	0.450	100.0	243.001	
		3	7.600	0.200	0.450	100.0	205.201	
					Tota	al Quantity	1293.602	kilogram
				Та	tal Deducte	ما ۵۰۰۰ میدند.	0.000 kilo	

					Net Tota	l Quantity	1293.602	kilogram
		Ç	Say 1293.60	2 kilogram (	@ Rs 97.69 /	kilogram	Rs 126	371.98
11	5.22A.6 Steel reinforcement for binding all complete ab				•	•		
	Colums	9	0.400	0.200	3.600	80.0	207.361	
	Flat shade	3	2.600	0.600	0.100	80.0	37.441	
		1	2.100	0.600	0.100	80.0	10.080	
		1	1.200	0.600	0.100	80.0	5.760	
	Flat slab	1	8.200	9.200	0.120	80.0	724.224	
	Lintel beam	2	8.000	0.200	0.150	80.0	38.400	
		2	8.6000	0.200	0.150	80.0	41.280	
	Lintel beam Office room	1	3.800	0.200	0.150	80.0	9.120	
	Beam- resting on column	2	9.000	0.200	0.300	80.0	86.400	
	Beam- resting on column	2	7.600	0.200	0.300	80.0	72.960	
	Counter beam	ther Er	9+8	0.200	0.450	80.0	122.401	
			igilieeri	ng Oig		IIS I Quantity	1355.427	kg
			2	To	otal Deducted	Quantity	0.000 kg	
					Net Tota	I Quantity	1355.427	kg
			5	Say 1355.42	27 kg @ Rs 9	97.69 / kg	Rs 132	2411.66
12	5.9.1 Centering and shutterin columns, etc for mass of	-	g strutting, et	c. and remo	oval of form	for:Foundat	ions, footing	js, bases
	Footing PCC	4*9	1.700		0.100		6.120	
	Trapezoidal footing	4*9	1.500		0.250		13.500	
	Stub Column	2*9	0.400		1.200		8.640	
		2*9	0.200		1.200		4.320	
					Tota	l Quantity	32.580 sq	m
				To	otal Deducted	d Quantity	0.000 sqn	1
					Net Tota	I Quantity	32.580 sq	m
			Say	/ 32.580 sq	m @ Rs 333	.24 / sqm	Rs 10	856.96
13								

	Colums	2*9	0.400		3.600		25.920	
		2*9	0.200		3.600		12.960	
					Tota	al Quantity	38.880 sq	ım
				Т	otal Deducte	ed Quantity	0.000 sqn	n
					Net Tota	al Quantity	38.880 sq	ım
			Sa	y 38.880 sc	ım @ Rs 858	3.29 / sqm	Rs 33	370.32
14	5.9.5 Centering and shuttering girders bressumers and	_	_	etc. and rer	moval of forr	n for:Lintels	s, beams, pl	inth be
	Lintel inner	2	7.600	0.150			2.280	
	lintel outer	2	8.600	0.150			2.580	
	Lintel @ Office room Inner	2	2.000	0.150	W		0.600	
	Lintel @ Office room outer	2	1.800	0.150		Ĭ.	0.540	
	Lintel beam	2	8.000	in of	0.150		2.400	
	Lintel beam Office	ther E	8.6000	ng Org	0.150 anisatic	ns	2.580	
	room		3.800		0.150	7	0.570	
	Beam- resting on column	2	9.000		0.300		5.400	
		2	8.600		0.300		5.160	
	Beam- resting on column	2	8.000		0.300		4.800	
		2	7.600		0.300		4.560	
	COUNTER BEAM	2	7.600		0.450		6.840	
	COUNTER BEAM bottom	1	7.600	0.200			1.520	
	COUNTER BEAM	2	8.600		0.450		7.740	
		2	8.600	0.200			3.440	
					Tota	al Quantity	51.010 sq	ım
				Т	otal Deducte	d Quantity	0.000 sqn	n
					Not Total	al Quantity	51.010 sq	ım

15	5.9.3 Centering and shutte	-		, etc. and ı	removal of forr	n for:Su	uspended flo	oors, r
	landings, balconies a	and access	8.200	9.200			75.440	
	Slab side	2	8.200		0.120		1.968	
		2	9.200		0.120		2.208	
	Wall area	2	8.000	0.200			-3.200	
		3	8.600	0.200			-5.160	
		1	2.000	0.200			-0.400	
		1	1.8000	0.200			-0.360	
	Flat shade bottom	3	2.600	0.600			4.680	
		1	2.100	0.600			1.260	
		1	0.600	0.600	3		0.360	
	Flat shade side	3	2.600	20/1	0.100		0.780	
		1	2.100		0.100		0.211	
		11	0.600	York,	0.100		0.660	
				in at 1	Total Q	uantity	87.567 sqi	m
		Othor E	20122011	To To	otal Deducted C		-9.120 sqr	n
		Juliei Ei	ngmeen	ng Oig	Net Total C		78.447 sqi	m
		P	Say	78.447 sq	m @ Rs 810.72	/ sqm	Rs 63	598.55
16	13.1.2 12 mm cement plaste	r of mix:1:6 (	1 cement : 6	fine sand).				
	Step side	2	0.300	,	0.150		0.090	
	·	2	0.600		0.150		0.180	
	Step top	1	2.000	0.300			0.600	
		1	2.600	0.300			0.780	
		2	0.300	0.300			0.180	
	Wall outer	2	8.000		3.600		57.600	
		2	9.000		3.600		64.800	
	WallI inner	2	7.600		3.600		54.720	
		2	8.600		3.600		61.920	
		2	1.800		3.600		12.960	
		2	2.000		3.600		14.400	

-	R.S	1	2.000		2.100		-4.200	
	D1	1	0.900		2.100		-1.890	
	D2	1	0.800		2.100		-1.680	
	W1	2	2.000		1.500		-6.000	
	W2	1	1.500		1.500		-2.250	
	V1	1	0.600		0.600		-0.360	
					Tota	al Quantity	268.230 s	qm
				To	otal Deducte	d Quantity	-16.380 s	qm
					Net Tota	al Quantity	251.850 s	qm
			Say	251.850 sq	m @ Rs 297	7.39 / sqm	Rs 74	897.67
17	13.16.1 6 mm cement plaster	of mix:1:3 (	1 cement : 3	fine sand)				
	Slab bottom	1	8.200	9.200	1		75.440	
	Slab side	2	8.200	2012	0.120		1.968	
		2	9.200		0.120	1	2.208	
	Wall area	2	8.000	0.200			-3.200	
		2	9.600	0.200	10%		-3.840	
		Othel Fi	2.000	0.200	anisatio	ns	-0.400	
		1	1.800	0.200			-0.360	
	Flat shade bottom	3	2.600	0.600	` <b> </b> -	1	4.680	
		1	2.100	0.600			1.260	
		1	0.600	0.600			0.360	
	Flat shade side	3	2.600		0.100		0.780	
		1	2.100		0.100		0.211	
		11	0.600		0.100		0.660	
	BEAM	4	8.600		0.450		15.480	
		4	7.600		0.450		13.680	
					Tota	al Quantity	116.727 s	qm
				To	otal Deducte	d Quantity	-7.800 sq	m
					Net Tota	al Quantity	108.927 s	qm
			Say	108.927 sq	m @ Rs 265	5.93 / sqm	Rs 28	966.96

R.S	1	2.000		2.100		-4.200	
D1	1	0.900		2.100		-1.890	
W1	2	2.000		1.500		-6.000	
W2	1	1.500		1.500		-2.250	
V1	1	0.600		0.600		-0.360	
Flat shade bottom	3	2.600	0.600			4.680	
	1	2.100	0.600			1.260	
	1	0.600	0.600			0.360	
Flat shade side	3	2.600		0.100		0.780	
	1	2.100	0	0.100		0.211	
	11	0.600	19	0.100		0.660	
Wall outer	2	8.000		3.600		57.600	
	2	9.000		3.600		64.800	
Walll inner	2	7.600		3.600		54.720	
	2	8.600		3.600	L	61.920	
	2	1.800		3.600		12.960	
	2	2.000	101 P 2 ()	3.600		14.400	
Slab bottom	Other Er	gi8.2001i	n 99.200 g	anisatio	ns	75.440	
Slab side	2	8.200		0.120	7	1.968	
	2	9.200		0.120	1	2.208	
Wall area	2	8.000	0.200			-3.200	
	2	9.600	0.200			-3.840	
	1	2.000	0.200			-0.400	
	1	1.800	0.200			-0.360	
Flat shade bottom	3	2.600	0.600			4.680	
	1	2.100	0.600			1.260	
	1	0.600	0.600			0.360	
Flat shade side	3	2.600		0.100		0.780	
	1	2.100		0.100		0.211	
	11	0.600		0.100		0.660	
BEAM	4	8.600		0.450		15.480	
	4	7.600		0.450		13.680	
				Tota	al Quantity	391.078 s	qm

				To	otal Deducte	d Quantity	-22.500 so	qm
					Net Tota	al Quantity	368.578 s	qm
			Say 3	368.578 sq	ım @ Rs 192	.69 / sqm	Rs 71	021.29
19	together throug designed pipe s and pull opera springs manufa	fixing rolling shutt th their entire leng shaft with brackets, tion complete, inc actured from high to over of required th	th and jointed side guides a luding the co ensile steel w	I together and arrang st of prov vire of ade	at the end be ements for indiction in the indication in the indiction in the indication in the indiction in	y end locks nside and or king necess oth conform	s, mounted outside locking ary 27.5 cring to IS: 44	on specia g with pu m long w 454 - par
	top dover	1	2.000		2.100		4.200	
		<u>'</u>	2.000	<b>a</b>		al Quantity	4.200 sqm	1 1
			C. 1 11	To	otal Deducte	<u> </u>	0.000 sqm	
			NY F	SX	Net Tota	al Quantity	4.200 sqm	า
			Say	4.200 sqn	n @ Rs 3279	.68 / sqm	Rs 13	774.66
	approved stee	l primer.Fixing wi	th 15x3 mm	lugs 10 c	•	edded in c	ement con	crete blo
	approved stee		th 15x3 mm	lugs 10 c	m long emb	edded in c	ement con	crete blo
	approved stee 15x10x10 cm o	I primer.Fixing wi	th 15x3 mm	lugs 10 c	m long emb	edded in d ne aggrega	te 20 mm no	crete blo
	approved stee 15x10x10 cm o	I primer.Fixing wi f C.C. 1:3:6 (1 Ce	th 15x3 mm ment : 3 coars	lugs 10 c	m long emb	edded in one aggrega	te 20 mm no	crete blo
	approved stee 15x10x10 cm o	I primer.Fixing wi f C.C. 1:3:6 (11 Ce	th 15x3 mm ment : 3 coars 0.900 2.100	lugs 10 c	m long emb	and aggregation 3.5	3.150 14.701	crete blo
	approved stee 15x10x10 cm o	I primer.Fixing wi f C.C. 1:3:6 (11 Ce	th 15x3 mm ment : 3 coars 0.900 2.100 2.000	lugs 10 c	m long emb	3.5 3.5 3.5	3.150 14.701 28.000	crete blo
	approved stee 15x10x10 cm o D1 W1	I primer.Fixing wi f C.C. 1:3:6 (11 Ce 1 2 2+2 5+5	th 15x3 mm ment : 3 coars 0.900 2.100 2.000 1.500	lugs 10 c	m long emb	3.5 3.5 3.5 3.5	3.150 14.701 28.000 52.500	crete blo
	approved stee 15x10x10 cm o D1 W1	I primer.Fixing wi f C.C. 1:3:6 (11 Ce 1 2 2+2 5+5 4	th 15x3 mm ment : 3 coars 0.900 2.100 2.000 1.500	lugs 10 c	m long emb	3.5 3.5 3.5 3.5 3.5 3.5	3.150 14.701 28.000 52.500 21.000	crete blo
	approved stee 15x10x10 cm o D1 W1	I primer.Fixing wi f C.C. 1:3:6 (11 Ce 1 2 2+2 5+5 4 2	th 15x3 mm ment : 3 coars 0.900 2.100 2.000 1.500 1.500	lugs 10 c	m long emb	3.5 3.5 3.5 3.5 3.5 3.5 3.5	3.150 14.701 28.000 52.500 21.000	crete blo
	approved stee 15x10x10 cm o D1 W1	I primer.Fixing wi f C.C. 1:3:6 (11 Ce 1 2 2+2 5+5 4 2	th 15x3 mm ment : 3 coars 0.900 2.100 2.000 1.500 1.500 0.600	lugs 10 c	m long emb	3.5 3.5 3.5 3.5 3.5 3.5 3.5 3.5	3.150 14.701 28.000 52.500 21.000 4.200	crete blo
	approved stee 15x10x10 cm o D1 W1	I primer.Fixing wi f C.C. 1:3:6 (11 Ce 1 2 2+2 5+5 4 2	th 15x3 mm ment : 3 coars 0.900 2.100 2.000 1.500 1.500 0.600	lugs 10 c se sand : (	m long emb	3.5 3.5 3.5 3.5 3.5 3.5 3.5 3.5 3.5	3.150 14.701 28.000 52.500 21.000 4.200	crete blo
	approved stee 15x10x10 cm o D1 W1	I primer.Fixing wi f C.C. 1:3:6 (11 Ce 1 2 2+2 5+5 4 2	th 15x3 mm ment : 3 coars 0.900 2.100 2.000 1.500 1.500 0.600	lugs 10 c se sand : (	Total Deducte	3.5 3.5 3.5 3.5 3.5 3.5 3.5 3.5 3.5	3.150 14.701 28.000 52.500 21.000 4.200 4.200 138.251 k	crete bloominal si
	approved stee 15x10x10 cm o D1 W1	I primer.Fixing wi f C.C. 1:3:6 (11 Ce 1 2 2+2 5+5 4 2	th 15x3 mm ment : 3 coars 0.900 2.100 2.000 1.500 1.500 0.600 0.600	lugs 10 c se sand : (	Total Deducte	3.5 3.5 3.5 3.5 3.5 3.5 3.5 3.5 4. Quantity d Quantity al Quantity	3.150 14.701 28.000 52.500 21.000 10.500 4.200 4.200 138.251 k 0.000 kg	crete bloominal si

	W1	2	2.000	1.500		18.0	108.000	(18kg/m2
	W2	1	1.500	1.500		18.0	40.500	(18kg/m2
	V	1	0.600	0.600		18.0	6.480	(18kg/m2
					Tota	al Quantity	154.980 k	κg
				To	otal Deducte	d Quantity	0.000 kg	
					Net Tota	al Quantity	154.980 k	g
			;	Say 154.980	) kg @ Rs 1	93.37 / kg	Rs 29	968.48
22	10.2 Structural steel work r			-				
	D1	1	0.900	2.100		25.0	47.250	(25kg/m
		-	1/1	31.5	Tota	al Quantity	47.250 kg	1
			63 0	Тс	otal Deducte		0.000 kg	
		61	N R	51/1	7 1 3	al Quantity	47.250 kg	1
		1 /5-	4 1570	Sav 47 250	) kg @ Rs 1			625.11
23	od163178/2021_2022 Providing and fixing dimension comprising duly reinforced with 1.4 required length (shap glazing beads and uP	of uPVC m 60 +/- 0.2 m e & size a VC extrude	ulti-chamberent thick galvectoring to dinterlocks,	nite colour : ed frame wit anized mild uPVC profil EPDM gasl	sliding glaz h in-built rol steel section e), appropr ket, wool pil	ed window ler track and n made from iate dimens e, zinc alloy	d sash extrunt roll forming sion of uPV (white pow	ded profile g process 'C extrude der coate
23	Providing and fixing dimension comprising duly reinforced with 1.4 required length (shap glazing beads and up touch locks with hook, fasteners 100 x 8 mm Profile of frame & sast fixing hardware's and finished wall shall be approved quality, all double glass panes, wand sash extruded pracceptable. Three	of uPVC me 60 +/- 0.2 m we & size a VC extrude zinc alloy to a size for fin h shall be m I drainage of filled with v complete a vire mesh a rofiles minus track three	ulti-chambered in thick galved coording to dinterlocks, body with sing frame to ditred cut and of water etc. weather produce per approved silicon seems 5% tolerate panels slidi	nite colour sed frame with anized mild uPVC profil EPDM gast agle nylon roo finished with a fixing of silicon seved drawing ealent shall lance in dimeng window	sliding glaz th in-built rol steel section e), appropr ket, wool pile blers (weigh vall and neo ded at all co g frame the salent over be alent sep the be paid sep the sion i.e. in	ed window ler track and made from liate dimense, zinc alloy to bearing cases ary stail orners, inclugap between of Engine arately) < brain depth & way series) fra	d sash extrument roll forming sion of uPV (white power pacity to be nless steel ding drilling en frame and of required er-in-Charge-Note: For uvidth of prome 116 x 4	ded profile g process C extrude der coate e 40 kg), C screws e of holes f and adjace size and ge. (Single uPVC fran file shall I
23	Providing and fixing dimension comprising duly reinforced with 1.4 required length (shap glazing beads and uP touch locks with hook, fasteners 100 x 8 mm Profile of frame & sash fixing hardware's and finished wall shall be approved quality, all double glass panes, wand sash extruded pracceptable. bry Three sash 46 x 62 mm bot glazing bead of approximation.	of uPVC me 60 +/- 0.2 m be & size a VC extrude zinc alloy to a size for fir be shall be m I drainage of filled with vecomplete a vire mesh a rofiles minute track three th having we opriate dime	ulti-chambered my thick galver coording to dinterlocks, pody with singuity and the coordinate of water etc. weather produce per approved silicon seems as 5% tolerate panels slidicall thickness ension. (Are	nite colour sed frame with anized mild uPVC profil EPDM gast agle nylon roo finished with a fusion well of silicon seved drawing ealent shall lance in dimeng window a of 2.3 +/- a of window	sliding glaz th in-built rol steel section e), appropr ket, wool pile tellers (weigh vall and neo ded at all co g frame the tellent over te g & direction be paid sep- tension i.e. in made of (big 0.2 mm and	ed window ler track and made from late dimense, zinc alloy to bearing caressary stail riners, incluing between of Engine arately) < brain depth & way series) frad single < brain describing to the late of the la	d sash extrument of uPV (white power pacity to be needed in grand of required er-in-Charge-Note: For up (width of prome 116 x 4 (s) glazing be	ded profile g process C extrude der coate e 40 kg), C screws e of holes f and adjace size and ge. (Single uPVC fran file shall I 5 mm ad / doub
23	Providing and fixing dimension comprising duly reinforced with 1.4 required length (shap glazing beads and up touch locks with hook, fasteners 100 x 8 mm Profile of frame & sash fixing hardware's and finished wall shall be approved quality, all double glass panes, wand sash extruded pracceptable. Three sash 46 x 62 mm bot	of uPVC me 60 +/- 0.2 m be & size a VC extrude zinc alloy to a size for find h shall be mo I drainage of filled with to complete a vire mesh a rofiles minute track three h having w	ulti-chambered in thick galved coording to dinterlocks, poody with since the coordinate of water etc. weather produced silicon seems 5% tolerance panels slidicall thickness.	nite colour sed frame with anized mild uPVC profil EPDM gast agle nylon roo finished with a fusion welf silicon seved drawing ealent shall lance in dimeng window is of 2.3 +/-	sliding glaz th in-built rol steel section e), appropr ket, wool pile tellers (weigh vall and neo ded at all co g frame the tellent over te g & direction be paid sep- tension i.e. in made of (big 0.2 mm and	ed window ler track and made from late dimense, zinc alloy to bearing caressary stail riners, incluing between of Engine arately) < brain depth & way series) frad single < brain describing to the late of the la	d sash extrument roll forming sion of uPV (white power pacity to be nless steel ding drilling en frame and of required er-in-Charge-Note: For uvidth of prome 116 x 4	ided profiled process (C extruded extruded extruded extruded extreme e
23	Providing and fixing dimension comprising duly reinforced with 1.4 required length (shap glazing beads and uP touch locks with hook, fasteners 100 x 8 mm Profile of frame & sash fixing hardware's and finished wall shall be approved quality, all double glass panes, wand sash extruded pracceptable. bry Three sash 46 x 62 mm bot glazing bead of approximation.	of uPVC me 60 +/- 0.2 m be & size a VC extrude zinc alloy to a size for fir be shall be m I drainage of filled with vecomplete a vire mesh a rofiles minute track three th having we opriate dime	ulti-chambered my thick galver coording to dinterlocks, pody with singuity and the coordinate of water etc. weather produce per approved silicon seems as 5% tolerate panels slidicall thickness ension. (Are	nite colour sed frame with anized mild uPVC profil EPDM gast agle nylon roo finished with a fusion well of silicon seved drawing ealent shall lance in dimeng window a of 2.3 +/- a of window	sliding glaz th in-built rol steel section e), appropr ket, wool pile tellers (weigh vall and neo ded at all co g frame the tellent over te g & direction be paid sep- tension i.e. in made of (big 0.2 mm and	ed window ler track and made from late dimense, zinc alloy to bearing caressary stail riners, incluing between of Engine arately) < brain depth & way series) frad single < brain describing to the late of the la	d sash extrument of uPV (white power pacity to be needed in grand of required er-in-Charge-Note: For up (width of prome 116 x 4 (s) glazing be	ided profil g process C extrude der coate e 40 kg), C screws e of holes t and adjace size and ge. (Single uPVC fran file shall
23	Providing and fixing dimension comprising duly reinforced with 1.4 required length (shap glazing beads and uP touch locks with hook, fasteners 100 x 8 mm Profile of frame & sash fixing hardware's and finished wall shall be approved quality, all double glass panes, wand sash extruded pracceptable. and sash extruded pracceptable. Sash 46 x 62 mm bot glazing bead of approved with the compression of the	of uPVC me 60 +/- 0.2 m be & size a VC extrude zinc alloy to a size for fill h shall be m I drainage of filled with v complete a vire mesh a rofiles minual track three h having w opriate dime 2	ulti-chambered my thick galver coording to dinterlocks, pody with singuity and continued from the coordinate of water etc. weather produced by the coordinate of the coordinat	nite colour sed frame with anized mild uPVC profil EPDM gast agle nylon roo finished with a fusion well of silicon seved drawing ealent shall ince in dimeng window a of 2.3 +/- a of window 1.500	sliding glaz th in-built rol steel section e), appropr ket, wool pile tellers (weigh vall and neo ded at all co g frame the tellent over te g & direction be paid sep- tension i.e. in made of (big 0.2 mm and	ed window ler track and made from late dimense, zinc alloy to bearing caressary stail riners, incluing between of Engine arately) < brain depth & way series) frad single < brain describing to the late of the la	d sash extrument of uPV (white power pacity to be needed in a different content of required er-in-Charge-Note: For up (width of prome 116 x 4) sglazing be 6.000	ded profil g process C extruded der coate e 40 kg), C screws e of holes that ad adjace size and ge. (Single uPVC fran file shall 5 mm brad / doub
23	Providing and fixing dimension comprising duly reinforced with 1.4 required length (shap glazing beads and uP touch locks with hook, fasteners 100 x 8 mm Profile of frame & sast fixing hardware's and finished wall shall be approved quality, all double glass panes, wand sash extruded pracceptable. bry Three sash 46 x 62 mm bot glazing bead of approved with the sash 46 x 62 mm bot glazing bead of approximately.	of uPVC me 60 +/- 0.2 m be & size a VC extrude zinc alloy to a size for fit be shall be m I drainage of filled with v complete a vire mesh a rofiles minual track three th having w opriate dime 2	ulti-chambered my thick galver coording to dinterlocks, body with singuity and the coordinate of water etc. weather produce panels slidicall thickness ension. (Are 2.000 1.500	nite colour sed frame with anized mild uPVC profil EPDM gast agle nylon roo finished with a fusion well of silicon seved drawing ealent shall lance in dimeng window a of 2.3 +/- a of window 1.500	sliding glaz th in-built rol steel section e), appropr ket, wool pile tellers (weigh vall and neo ded at all co g frame the tellent over te g & direction be paid sep- tension i.e. in made of (big 0.2 mm and v v v despension	ed window ler track and made from late dimense, zinc alloy to bearing caressary stail riners, incluing between of Engine arately) < brain depth & way series) frad single < brain describing to the late of the la	d sash extrument of uPV (white power pacity to be needed in grand of required er-in-Charge-Note: For upidth of prome 116 x 4 (solution) glazing be 6.000	ded profil g process C extrud- der coate e 40 kg), C screws e of holes th and adjace size and ge. (Single uPVC fran file shall 5 mm brad / doub
23	Providing and fixing dimension comprising duly reinforced with 1.4 required length (shap glazing beads and uP touch locks with hook, fasteners 100 x 8 mm Profile of frame & sast fixing hardware's and finished wall shall be approved quality, all double glass panes, wand sash extruded pracceptable. bry Three sash 46 x 62 mm bot glazing bead of approved with the sash 46 x 62 mm bot glazing bead of approximately.	of uPVC me 60 +/- 0.2 m be & size a VC extrude zinc alloy to a size for fit be shall be m I drainage of filled with v complete a vire mesh a rofiles minual track three th having w opriate dime 2	ulti-chambered my thick galver coording to dinterlocks, body with singuity and the coordinate of water etc. weather produce panels slidicall thickness ension. (Are 2.000 1.500	nite colour sed frame with anized mild uPVC profil EPDM gashigle nylon roo finished with a fusion well of silicon seved drawing ealent shall ince in dimeng window a of 2.3 +/- a of window 1.500 1.500 0.600	sliding glaz th in-built rol steel section e), appropr ket, wool pile tellers (weigh vall and neo ded at all co g frame the tellent over te g & direction be paid sep- tension i.e. in made of (big 0.2 mm and v v v despension	ed window ler track and made from late dimense, zinc alloy to bearing casessary stail riners, incluing between acker roding depth & winder series) fractional single < bridge broker in depth & winder series (and a single < bridge broker in depth & winder series) fractional single < bridge broker in depth & winder series (and in the single < bridge broker) and depth & winder series (and in the single < bridge broker) and depth & winder series (and in the single < bridge broker) and depth & winder series (and in the single < bridge broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder series (and in the single < broker) and depth & winder	d sash extrument of uPV (white power pacity to be pacity	ded profiled process of control of the control of t

		T.	Say	/ 8.610 sqm	@ Rs 9283	.66 / sqm	Rs 79	932.31
SI No	Description	No	L	В	D	CF	Quantity	Remark
		2 C	Construction	n of Sump t	ank			
1	2.6.1 Earth work in excava (exceeding 30 cm in cearth, lead up to 50 m soil	depth, 1.5 m	in width as	well as 10	sqm on pla	n) including	disposal of	excavat
	Sump Tank	1	11.000	6.000	1.500		99.000	
		•			Tota	al Quantity	99.000 cu	m
				То	tal Deducte	d Quantity	0.000 cum	)
			(Can	:20	Net Tota	al Quantity	99.000 cui	m
	Say 99.000 cum @ Rs 212.70						Rs 21	057.30
	to 30 cm measured at m outside the periphe	ry of the are	a cleared		and remova	al of rubbish		tance of
		1	11.500	6.500			74.750	
			明的	d aug		al Quantity	74.750 sq	
		Other En	igineeri	ng Orgo	otal Deducte	113	0.000 sqm	
	-	Di		74.750	_	al Quantity	74.750 sq	
	2.20.4		38	ay 74.750 SC	qm @ Rs 14	.69 / Sqm	KS IC	98.08
3	2.26.1 Extra for every addit materials.All kinds of		5 m or part	there of in	excavation	/ banking	excavated	or stack
		1	11.000	6.000	1.500		99.000	
					Tota	al Quantity	99.000 cu	m
				То	tal Deducte	d Quantity	0.000 cum	1
				То		d Quantity	0.000 cum	
			Say			al Quantity	99.000 cui	
4	60.1.2 RING BUND Type II P height 2.0 m side and till the completion of work.etc.complete.	filling in betw	g bund with o	/ 99.000 cur earth fille gu	Net Tota m @ Rs 105 unny bags of ring bund ar	al Quantity  .71 / cum  f top width 1	99.000 cur  Rs 10	m 465.29 width 2.
4	RING BUND Type II P height 2.0 m side and till the completion of	filling in betw	g bund with o	/ 99.000 cur earth fille gu	Net Tota m @ Rs 105 unny bags of ring bund ar	al Quantity  .71 / cum  f top width 1	99.000 cur  Rs 10	m 465.29 width 2.

				_				
				To	otal Deducte	<u> </u>	0.000 met	
					Net Tota	al Quantity	100.000 n	netre
			Say 100.	000 metre	@ Rs 1219.	40 / metre	Rs 12	1940.00
5	60.2.3 Bailing out water using above 5HP and up to other stores, pay of st	10HP, inclu	iding convey	•	•		•	
	2Nos2Days12Hour	2	60.000				120.000	
					Tota	al Quantity	120.000 h	our
				To	otal Deducte	ed Quantity	0.000 hou	r
			0	0	Net Tota	al Quantity	120.000 h	our
			Say 1	20.000 hou	ır @ Rs 430	).13 / hour	Rs 51	615.60
	Providing and laying in concrete for reinforce including pumping of cand reinforcement, incretard setting of concrete Engineer - in-charge. In cement used as per de	ed cement of concrete to cluding adn ete, improve Note:- Cem	concrete wo site of laying nixtures in re workability went content	rk, using on the second of the	ement con ding the cos ed proportion airing streng in this item	tent as per of centering ons as per of the and dura is @ 330 k	approved ong, shutterings: 9103 to bility as per g/ cum. Exc	design mix, ng, finishing accelerate, direction of cess or less
	Bottom Slab	ther Er	g11.400°1	16.400 g	an <mark>i.400</mark> 10	ns	29.185	
	long sides	2	10.800	4.000	0.400	7	34.560	
	Short Side	2	5.000	4.000	0.400		16.000	
					Tota	al Quantity	79.745 cu	m
				To	otal Deducte	ed Quantity	0.000 cum	า
					Net Tota	al Quantity	79.745 cu	m
			Say	79.745 cum	@ Rs 9355	5.22 / cum	Rs 746	6032.02
7	4.1.8 Providing and laying ir shuttering - All work u nominal size)	•		-	_	•		•
	Pcc for bottom slab	1	11.600	6.600	0.100		7.656	
					Tota	al Quantity	7.656 cum	า
				To	otal Deducte	ed Quantity	0.000 cum	า
					Net Tota	al Quantity	7.656 cum	า
			Say	7.656 cum	ı @ Rs 6772	2.67 / cum	Rs 51	851.56
8	5.22.6							

	Bottom Slab	1	11.400	6.400	0.400	100.0	2918.401	
	long sides	2	10.800	0.400	4.000	100.0	3456.000	
	Short Side	2	5.000	0.400	4.000	100.0	1600.000	
					Tota	al Quantity	7974.401	kilogra
				To	otal Deducte		0.000 kilo	
						al Quantity	7974.401	
			Say 7974.40	1 kilogram (	@ Rs 97.69	/ kilogram	Rs 779	9019.2
9	5.9.2 Centering and shut attached pilasters,	butteresses, p	linth and strir	ng courses		for:Walls (a		s) incli
	Bottom slab	2	11.400	0.400	7		9.121	
		2	6.400	0.400	44		5.121	
	Wall Inner	2	10.000	4.000	133		80.000	
	Wall Inner	2	5.000	4.000			40.000	
	Wall outer	2	10.800	4.000	5/		86.400	
		2	5.800	4.000	• , •		46.400	
		Otner E	ngineeri	ng Org	anisa <del>tota</del>	al Quantity	267.042 s	qm
		$-\mathcal{D}$		To	otal Deducte	d Quantity	0.000 sqn	1
					Net Tota	al Quantity	267.042 s	qm
			Say	267.042 sq	m @ Rs 712	2.76 / sqm	Rs 190	0336.8
	5.23	46-2	ourfood of DC	C work with	6mm thick	cement mor	tar 1:3 ( cer	nent : 3
10	Smooth finishing of sand).	tne exposed s	surface of RC		I	I	1	Ī
10	_	The exposed s	10.000	5.000			100.000	
10	sand).						100.000	
10	sand).  Bottom slab	2	10.000	5.000				
10	sand).  Bottom slab  Wall Inner	2 2	10.000	5.000			80.000	
10	sand).  Bottom slab  Wall Inner  Wall Inner	2 2 2	10.000 10.000 5.000	5.000 4.000 4.000	1.000		80.000 40.000	
10	sand).  Bottom slab  Wall Inner  Wall Inner  Top Side	2 2 2 1	10.000 10.000 5.000 9.6+4.6	5.000 4.000 4.000	1	al Quantity	80.000 40.000 5.680	qm
10	sand).  Bottom slab  Wall Inner  Wall Inner  Top Side	2 2 2 1	10.000 10.000 5.000 9.6+4.6	5.000 4.000 4.000 0.400	1	<u>-</u>	80.000 40.000 5.680 33.200	

Bottom slab 2 10.000 5.000 100.000  Wall Inner 2 10.000 4.000 80.000  Wall Inner 2 5.000 4.000 4.000  Top Side 1 9.6+4.6 0.400 5.680  top side outer 1 33.200 1.000 33.200  Total Quantity 258.880 sqm  Total Deducted Quantity 0.000 sqm  Net Total Quantity 258.880 sqm  Rs 146722.83  Si No Description No L B D CF Quantity Remark  3 ELECTRIFICATION  1 1.10.3  Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch modular plate, suitable GI box and earthing the point with 1.5 sq.mm. FRLSPVC insulated copper conductor single core cable etc as required. Group C  1.10.3 3 3 3.000 point  Total Quantity 3.000 point  Total Quantity 3.000 point  Rs 3508.89  2 1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required. Group C  1.55.3 3 3 3 3.000	11	22.23.1 Providing and applying RCC structures like ret & water treatment plan partsintegral crystalling slurry: 1 part water) for help of synthetic fiber live by reducing permeat 1048 and resistant to 1 of self-healing of crack specification and the differ 10 years against ar	caining walls t, tunnels/s e slurry: 2 or horizontal brush. The ability of cor 6 bar hydro ks up to a irection of the	s of the base subway and I parts water) surfaces ar materialshal acrete by mo static pressured width of 0.5 ane engineeri	ement, water bridge deck for vertical ad applying I meet the rore than 90 are on negation. The n-charge. T	tanks, roof etc., prepai surfaces a thesame fro equirement % compare tive side. Th workshall b	slabs, podiored by mixing and 3:1 (3 per megative s as specified with contine crystalline carried of performance	ums, reserving in the rational street in ACI-22 rol concrete eslurry shall out all carry	or, sewage o of 5 : 2 (5 I crystalline ide with the I2-3R-2010 as perDIN be capable lete as per
Wall Inner  2 5.000 4.000 40.000  Top Side  1 9.6+4.6 0.400  top side outer  1 33.200  Total Quantity  258.880 sqm  Total Deducted Quantity  Net Total Quantity  258.880 sqm  Rs 146722.83  Si No  Description  No  L  B  D  CF  Quantity  Remark  3 ELECTRIFICATION  1 1.10.3  Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable etc as required. Group C  1.10.3  Total Quantity  3.000 point  Not Total Quantity  3.000 point  Not Total Quantity  Net Total Quantity  3.000 point  Total Quantity  Net Total Quantity  Net Total Quantity  Say 3.000 point @ Rs 1169.63 / point  Rs 3508.89  2 1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required. Group C		Bottom slab	2	10.000	5.000			100.000	
Top Side 1 9.6+4.6 0.400 5.680  top side outer 1 33.200 1.000 33.200  Total Quantity 258.880 sqm  Total Deducted Quantity 0.000 sqm  Net Total Quantity 258.880 sqm  Rs 146722.83  SINO Description No L B D CF Quantity Remark  3 ELECTRIFICATION  1 1.10.3  Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable etc as required. Group C  1.10.3 3 3 3.000  Total Quantity 3.000 point  Net Total Quantity 3.000 point  Say 3.000 point @ Rs 1169.63 / point Rs 3508.89  2 1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required. Group C		Wall Inner	2	10.000	4.000			80.000	
top side outer 1 33.200 1.000 33.200  Total Quantity 258.880 sqm  Total Deducted Quantity 0.000 sqm  Net Total Quantity 258.880 sqm  Net Total Quantity 258.880 sqm  Rs 146722.83  Si No Description No L B D CF Quantity Remark  3 ELECTRIFICATION  1 1.10.3  Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch modular plate, suitable GI box and earthing the point with 1.5 sq.mm. FRLSPVC insulated copper conductor single core cable etc as required. Group C  1.10.3 3 3.000  Total Quantity 3.000 point  Total Deducted Quantity 0.000 point  Net Total Quantity 3.000 point  Say 3.000 point @ Rs 1169.63 / point Rs 3508.89  2 1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required. Group C		Wall Inner	2	5.000	4.000	1,		40.000	
Total Quantity 258.880 sqm  Total Deducted Quantity 0.000 sqm  Net Total Quantity 258.880 sqm  Net Total Quantity 258.880 sqm  Rs 146722.83  SI No Description No L B D CF Quantity Remark  3 ELECTRIFICATION  1 1.10.3  Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch modular plate, suitable GI box and earthing the point with 1.5 sq.mm. FRLSPVC insulated copper conductor single core cable etc as required. Group C  1.10.3 3 3 3.000  Total Quantity 3.000 point  Total Deducted Quantity 0.000 point  Net Total Quantity 3.000 point  Say 3.000 point @ Rs 1169.63 / point Rs 3508.89  2 1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required. Group C		Top Side	1	9.6+4.6	0.400	1 13		5.680	
Total Deducted Quantity 0.000 sqm  Net Total Quantity 258.880 sqm 258.880 sqm 258.880 sqm 258.880 sqm 258.880 sqm 258.880 sqm 278.566,76 / sqm 278.146722.83  SI NO Description No L B D CF Quantity Remark  3 ELECTRIFICATION  1 1.10.3  Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch modular plate, suitable GI box and earthing the point with 1.5 sq.mm. FRLSPVC insulated copper conductor single core cable etc as required. Group C  1.10.3  3 Total Quantity 3.000 point  Total Deducted Quantity 0.000 point  Net Total Quantity 3.000 point  Say 3.000 point 28 s 1169.63 / point Rs 3508.89  2 1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required. Group C		top side outer	1	33.200	70 WA	1.000		33.200	
Net Total Quantity 258.880 sqm  Other Engine Say 258.880 sqm @ Rs 566.76 / sqm  Rs 146722.83  SI No Description No L B D CF Quantity Remark  3 ELECTRIFICATION  1 1.10.3  Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch modular plate, suitable GI box and earthing the point with 1.5 sq.mm. FRLSPVC insulated copper conductor single core cable etc as required. Group C  1.10.3  3 3 3 3.000 point  Total Quantity 3.000 point  Net Total Quantity 3.000 point  Net Total Quantity 3.000 point  Say 3.000 point @ Rs 1169.63 / point Rs 3508.89  2 1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required. Group C			15			Tota	al Quantity	258.880 s	qm
Si No Description No L B D CF Quantity Remark  3 ELECTRIFICATION  1 1.10.3  Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch modular plate, suitable GI box and earthing the point with 1.5 sq.mm. FRLSPVC insulated copper conductor single core cable etc as required.Group C  1.10.3  3 3 3.000  Total Quantity 3.000 point  Total Deducted Quantity 0.000 point  Net Total Quantity 3.000 point  Say 3.000 point @ Rs 1169.63 / point Rs 3508.89  2 1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required.Group C			1		To	tal Deducte	d Quantity	0.000 sqm	1
3 ELECTRIFICATION  1 1.10.3 Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVCinsulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch modular plate, suitable GI box and earthing the point with 1.5 sq.mm. FRLSPVC insulated copper conductor single core cable etc as required.Group C  1.10.3 3 Total Quantity 3.000 point  Total Deducted Quantity Net Total Quantity Say 3.000 point @ Rs 1169.63 / point Rs 3508.89  2 1.55.3 Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required.Group C				M Barrie	10 B 27	Net Tota	al Quantity	258.880 s	qm
3 ELECTRIFICATION  1 1.10.3  Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch modular plate, suitable GI box and earthing the point with 1.5 sq.mm. FRLSPVC insulated copper conductor single core cable etc as required. Group C  1.10.3  3 3 3.000  Total Quantity 3.000 point  Total Deducted Quantity 0.000 point  Net Total Quantity 3.000 point  Say 3.000 point @ Rs 1169.63 / point Rs 3508.89  2 1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required. Group C			ther En	gineSayi	258.880 sqı	n @ Rs 566	6.76 / sqm	Rs 146	6722.83
1 1.10.3  Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVCinsulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch modular plate, suitable GI box and earthing the point with 1.5 sq.mm. FRLSPVC insulated copper conductor single core cable etc as required. Group C  1.10.3  3.000  Total Quantity  3.000 point  Total Deducted Quantity  Net Total Quantity  3.000 point  Say 3.000 point @ Rs 1169.63 / point  Rs 3508.89  2.1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required. Group C	SI No	Description	No -	L	В	D.	CF	Quantity	Remark
Total Quantity 3.000 point  Total Deducted Quantity 0.000 point  Net Total Quantity 3.000 point  Say 3.000 point @ Rs 1169.63 / point Rs 3508.89  2 1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required.Group C	1	Wiring for light point/ to copper conductor single modular plate, suitable	e core cable e GI box a	xhaust fan p e in surface / nd earthing	point/ call b recessed n the point v	nedium clas	s PVC cond	luit,with mod	lular switch
Total Deducted Quantity 0.000 point  Net Total Quantity 3.000 point  Say 3.000 point @ Rs 1169.63 / point Rs 3508.89  1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required.Group C		1.10.3	3					3.000	
Net Total Quantity 3.000 point  Say 3.000 point @ Rs 1169.63 / point Rs 3508.89  1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required.Group C						Tota	al Quantity	3.000 poir	nt
Say 3.000 point @ Rs 1169.63 / point Rs 3508.89  1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required.Group C					To	tal Deducte	d Quantity	0.000 poir	nt
2 1.55.3  Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required.Group C						Net Tota	al Quantity	3.000 poir	nt
Wiring for group controlled (looped) light point/fan point/exhaust fan point/ call bell point ( without independent switch etc.) with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface/ recessed PVC conduit, and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required.Group C				Say	3.000 point	@ Rs 1169	.63 / point	Rs 35	508.89
	2	Wiring for group cont independent switch et surface/ recessed PV	c.) with 1.5 C conduit, a	sq. mm FR and earthing	LS PVC ins	sulated copp	per conduct	tor single co	ore cable in
				3-1333.				3,000	

6	sq. mm + 1 X 2  1.14.2  1.31  Supplying and including provi	fixing suitable sizeding and fixing 3. as required. (Fo	Say 20.000  Say 20.000  GI box with mo pin 5/6 amps m	Total Dec Net ) metre @ Rs dular plate an odular socke	Total Quantity Lucted Quantity Total Quantity Total Quantity 196.74 / metre d cover in front t outlet and 5/6	20.000 me  20.000 me  20.000 me  20.000 me  and an	etre etre etre or inreces
	sq. mm + 1 X 2	.5 sq. mm earth w	20.000	Total Dec	Total Quantity  Lucted Quantity  Total Quantity	20.000 me 20.000 me 20.000 me	etre etre
5	sq. mm + 1 X 2	.5 sq. mm earth w	20.000	Total Dec	Total Quantity  Lucted Quantity  Total Quantity	20.000 me 20.000 me 20.000 me	etre etre
5	sq. mm + 1 X 2	.5 sq. mm earth w	ire	Total Dec	Total Quantity	20.000 me	uired2X 2
5	sq. mm + 1 X 2	.5 sq. mm earth w	ire		m class PVC col	20.000 20.000 m	uired2X 2
5	sq. mm + 1 X 2	.5 sq. mm earth w	ire	cessed mediu	m class PVC col	20.000	uired2X 2
5	sq. mm + 1 X 2	.5 sq. mm earth w	ire	cessed mediu	_		
	1.14.2 Wiring for circu	it/ submain wiring	•	wire with the	following sizes o	of FRLS PV	C insulat
			Say 50.000	metre @ Rs	172.48 / metre	Rs 8	624.00
				Net	Total Quantity	50.000 m	etre
		Other Er	ngineering	Total Dec	lucted Quantity	0.000 me	re
			Bring E		Total Quantity	50.000 m	etre
	1.14.1	1	50.000			50.000	
4	copper conduct	it/ submain wiring or, single core cal sq.mm earth wire	T 4 74 TW/-0123				
			Say 20.000	) metre @ Rs	237.16 / metre	Rs 4	743.20
			PRINCE	Net	Total Quantity	20.000 m	etre
			0-0	Total Dec	lucted Quantity	0.000 me	re
					Total Quantity	20.000 m	etre
	1.12	1	20.000	-		20.000	
3	surface/ recess	power plug with 2 ed medium class e core cable for lo	PVC conduit alc	ng with 1 No		•	
			Say 3.0	00 point @ Rs	656.23 / point	Rs 19	968.69
				Net	Total Quantity	3.000 poi	nt
				Total Dec	lucted Quantity	0.000 poi	nt
					Total Quantity	3.000 poi	

					Tot	al Quantity	2.000 ead	ch
				To	tal Deducte	ed Quantity	0.000 ead	ch
					Net Tot	al Quantity	2.000 ead	ch
			Sa	y 2.000 eacl	n @ Rs 474	.32 / each	Rs 9	948.64
7	1.33 Supplying and fixing connection etc as r	•	np ceiling ro	ose on the $\epsilon$	existing jun	ction box/ v	wooden blo	ckincluding
	1.33	7					7.000	
		•			Tot	al Quantity	7.000 ead	ch
				To	tal Deducte	ed Quantity	0.000 ead	ch
			C	R.	Net Tot	al Quantity	7.000 ead	ch
			s	ay 7.000 ea	ch @ Rs 76	.81 / each	Rs 5	537.67
	insulated and PVC s original wiring etc. a rod , canopies, shac A/C	s required. <b< th=""><th>or&gt;1200mm</th><th>sweep -5sta</th><th>r rated ceili</th><th>ng fan com</th><th>olete with 30</th><th>00mm down</th></b<>	or>1200mm	sweep -5sta	r rated ceili	ng fan com	olete with 30	00mm down
	od59174/2021_2022	Other E	igineeri	ng Orga	anisatio	ns	2.000	
					Tot	al Quantity	2.000 ead	ch
			K	To	otal Deducte	ed Quantity	0.000 ead	ch
					Net Tot	al Quantity	2.000 ead	ch
			Say	2.000 each	@ Rs 2070	.00 / each	Rs 4	140.00
9	1.25 Supplying and fixing switch box including	=			•		_	odular plate
	1.25	2					2.000	
					Tot	al Quantity	2.000 ead	ch
				To	tal Deducte	ed Quantity	0.000 ead	ch
					Net Tot	al Quantity	2.000 ead	ch
			Sa	y 2.000 eacl	n @ Rs 404	.25 / each	Rs 8	308.50
10	90.3.19.3 Supply conveyance, CRCA sheet 0.5mm 16/0.20 mm 3 core original wiring and	thickness with PVC insulate	n all accessoned and shea	ories and lan othed round	nps directly copper co	on wall and nductor flex	giving conn wire or ex	ections with tending the

	90.3.19.3	4					4.000		
		•	•		Tot	al Quantity	4.000 eac	h	
				To	otal Deducte	d Quantity	0.000 eac	h	
					Net Tot	al Quantity	4.000 eac	h	
			Say	4.000 each	@ Rs 1222	.10 / each	Rs 48	888.40	
11	2.10.1 Supplying and fixing suitable for inductive and commissioning e	load of follow	ving poles i	n the existin					
	2.10.1	4					4.000		
			0	-@-	Tot	al Quantity	4.000 eac	h	
			1190	To	otal Deducte	d Quantity	0.000 eac	h	
		al Quantity	4.000 eac	h					
		610	Sa	y 4.000 eac	h @ Rs 235	.81 / each	Rs 9	43.24	
	and commissioning e	1	Via Ba	a anto		ns	1.000		
		Other En	igineer	ing Org	100	al Quantity	1.000 eac		
				To	otal Deducte Net Total	ed Quantity al Quantity	•		
			Say	1.000 each		-		290.91	
13	2.15.1 Supplying and fixing circuit breaker (RCC connections, testing	B), having a	a sensitivit	y current 30	) mA in the	existing M			
	2.15.1	1					1.000		
					Tot	al Quantity	1.000 eac	h	
				To	otal Deducte	ed Quantity	0.000 eac	h	
					Net Tot	al Quantity	1.000 eac	h	
			Say	1.000 each	@ Rs 2984	.71 / each	Rs 29	84.71	
14	90.11.1.10 Supply and installation MCB DB including consistent is solution etc. fixed on v	pper /brass	bus bar, ne		•		•		

	42/43)	_						
	90.11.1.10	1					1.000	
					Tota	al Quantity	1.000 eac	h
				То	tal Deducte	d Quantity	0.000 eac	h
					Net Tota	al Quantity	1.000 eac	h
			Say	1.000 each	@ Rs 2846.	.50 / each	Rs 28	346.50
15	od163170/2021_2022 Supply & installation 760x450x260x) and to good the damages co	n of dust ai o fix KSEB n	neters, fuse	units, CT etc	-			•
	od59206/2021_2022	1	0	(2)			1.000	
			118	509/	Tota	al Quantity	1.000 eac	h
		-	£.2 }	То	tal Deducte	d Quantity	0.000 eac	h
		61	W. P	25 X	Net Tota	al Quantity	1.000 eac	h
		18	Say	1.000 each	@ Rs 4794.	42 / each	Rs 47	794.42
16	od163171/2021_2022 100A HRC fuse fuse b		se link			5		
	od59185/2021_2022	3	Mar Comment	me PE/			3.000	
		Other En	ngineer	ing Orga	anisa <b>T</b> eta	al Quantity	3.000 eac	h
			Ď.	To	tal Deducte	d Quantity	0.000 eac	h
		$\mathbf{P}_{-}$	K		Net Tota	al Quantity	3.000 eac	h
			Sa	y 3.000 each	n @ Rs 543.	.00 / each	Rs 10	629.00
17	od163172/2021_2022 100 A, 415 V, 2 way n		ounted on E	DMC/ SMC ba	ase.		,	
	od59186/2021_2022	1					1.000	
					Tota	al Quantity	1.000 eac	h
				То	tal Deducte	d Quantity	0.000 eac	h
					Net Tota	al Quantity	1.000 eac	h
			Sa	y 1.000 each	n @ Rs 341.	.60 / each	Rs 3	41.60
18	90.12.7.42 Supply, laying and cl cable, 1.1 KV grade co not exceeding 60cms, factory made clamp	of the followi	ng sizes us	ing clamps n	oted along	with the cal	oles, spacin	g of clam
	90.12.7.42	1	10.000				10.000	
		1	1	1	1	I		

				То	tal Deducted	d Quantity	0.000 me	tre
					Net Tota	I Quantity	10.000 m	etre
			Say 10.	.000 metre	@ Rs 328.5	1 / metre	Rs 32	285.10
19	9.1.34 Supplying and making size of PVC insulating required.4 X 25 sq	ted and PVC	sheathed / >	-	_		•	-
	9.1.34	2					2.000	
					Tota	l Quantity	2.000 set	
				To	tal Deducte	d Quantity	0.000 set	
			Part .	90	Net Tota	I Quantity	2.000 set	
			9	Say 2.000 s	set @ Rs 29	5.10 / set	Rs 5	90.20
20	90.16.1.3 Supply and drawing connection as requir	40 40 -			11 0 0 1	long with w	iring/ cables	s and giving
	90.16.1.3	1	50.000		770	L	50.000	
					Tota	I Quantity	50.000 m	etre
						-		
			N Section	То	tal Deducte	d Quantity	0.000 me	tre
		Other Er	ngineerin	Seption 1	tal Deducted	d Quantity	0.000 me	
		Other Er		ig Orga	tal Deducted	l Quantity	50.000 m	
21	5.4 Earthing with G.I. e masonry enclosure with charcoal/ coke a	arth plate 600	Say 50 0 mm X 600 is e having locki	0.000 metro	tal Deducted Net Total e @ Rs 62.8	Quantity 7 / metre	50.000 me Rs 3	etre  143.50  adproviding
21	Earthing with G.I. e masonry enclosure v	arth plate 600	Say 50 0 mm X 600 is e having locki	0.000 metro	tal Deducted Net Total e @ Rs 62.8	Quantity 7 / metre	50.000 me Rs 3	etre  143.50  adproviding
21	Earthing with G.I. e masonry enclosure with charcoal/ coke a	arth plate 600 with cover plate	Say 50 0 mm X 600 is e having locki	0.000 metro	Net Total e @ Rs 62.8  mm thick included	Quantity 7 / metre	So.000 me Rs 3: essories, are of 2.7 me	etre  143.50  adproviding
21	Earthing with G.I. e masonry enclosure with charcoal/ coke a	arth plate 600 with cover plate	Say 50 0 mm X 600 is e having locki	0.000 metro mm X 6 m	Net Total e @ Rs 62.8  mm thick included	I Quantity  I / metre  Iuding accovatering pip	essories, and the of 2.7 me	etre  143.50  adproviding
21	Earthing with G.I. e masonry enclosure with charcoal/ coke a	arth plate 600 with cover plate	Say 50 0 mm X 600 is e having locki	0.000 metro mm X 6 m	Net Total e @ Rs 62.8  mm thick included and very service	I Quantity  I / metre  Iuding accovatering pip	50.000 me Rs 3: essories, ar pe of 2.7 me 2.000 2.000 set	etre  143.50  ndproviding
21	Earthing with G.I. e masonry enclosure with charcoal/ coke a	arth plate 600 with cover plate	Say 50 0 mm X 600 in the having locking lockin	0.000 metro mm X 6 m ing arrange	Net Total e @ Rs 62.8  mm thick included and very service	I Quantity I / metre Iuding accovatering pip Il Quantity I Quantity I Quantity	50.000 me  Rs 3: essories, are of 2.7 me  2.000  2.000 set  0.000 set  2.000 set	etre  143.50  adproviding
21	Earthing with G.I. e masonry enclosure with charcoal/ coke a	arth plate 600 with cover plate and salt as recover 2	Say 50 0 mm X 600 ie having lockiquired. Sa	mm X 6 maxing arranged	Net Total e @ Rs 62.8  mm thick included and very service	I Quantity I / metre Iuding accovatering pip Id Quantity	50.000 me  Rs 3:  essories, and the of 2.7 me  2.000  2.000 set  0.000 set  2.000 set  Rs 14	etre  143.50  Indproviding tre long etc.  687.76
	Earthing with G.I. e masonry enclosure with charcoal/ coke a 5.4  5.13  Providing and laying G.I. pipe from earth	arth plate 600 with cover plate and salt as recover 2	Say 50 0 mm X 600 ie having lockiquired. Sa	mm X 6 maxing arranged	Net Total e @ Rs 62.8  mm thick included and very service	I Quantity I / metre Iuding accovatering pip Id Quantity	50.000 me  Rs 3:  essories, and the of 2.7 me  2.000  2.000 set  0.000 set  2.000 set  Rs 14	etre  143.50  Indproviding tre long etc.  687.76
	Earthing with G.I. e masonry enclosure with charcoal/ coke a 5.4  5.13  Providing and laying G.I. pipe from earth required.	arth plate 600 with cover plate and salt as recover 2	Say 50 0 mm X 600 ie having lockiquired. Saction from ear cluding conne	mm X 6 maxing arranged	Total Deducted  Net Total  Re @ Rs 62.8  Total  tal Deducted  Net Total  et @ Rs 734  de with 4.00  n copper thi	I Quantity I / metre Iuding accovatering pip Id Quantity	50.000 me  Rs 3 essories, and the of 2.7 me  2.000 2.000 set 0.000 set 2.000 set Rs 14 exper wire invation and	etre  143.50  Indproviding tre long etc.  687.76  In 15mm dia re-filling as

					Net Tota	al Quantity	30.000 me	etre
			Say 3	0.000 metre	@ Rs 304.	53 / metre	Rs 91	35.90
23	5.14 Providing and fixing 25	mm X 5 mn	n copper str	ip on surface	e or in reces	s for conne	ctions etc. as	s required.
	5.14	1	0.300				0.300	
					Tota	al Quantity	0.300 met	re
				To	tal Deducte	d Quantity	0.000 met	re
					Net Tota	al Quantity	0.300 met	re
			Say 0	.300 metre	@ Rs 1191.	19 / metre	Rs 3	57.36
	Solar street light:Supp type with 60w Pannel, for each components Made by CNC Filamer protection. Each stree work)	12.8V 18Ah Notion sensont machine,	Lithium Phor and Hybri and be pa	ero Phospa d Charge co inted with a	te LifePo4 E ntroller. The nti corrosive	Battery, IP65 pole shall 5 paint with	5 Protection 5 mtr GRP C required th	individuall conical Polickness fo
	od60259/2021_2022	2				L	2.000	
	1	400			Tota	al Quantity	2.000 eac	h
			no little	To	tal Deducte	d Quantity	0.000 eac	h
	O	ther En	ngineeri	ng Orga	an Net Tota	al Quantity	2.000 eac	h
			Say 2	2.000 each @	Rs 58075	.00 / each	Rs 116	5150.00
25	od163174/2021_2022 KSEB charges for obta paid)	aining electr	ic connection	on to the pre	mises includ	ding CD, O	YEC etc.(act	uals will b
	od59443/2021 2022	1						
	0000110/2021_2022	1					1.000	
	0400110/2021_2022	ı			Tota	al Quantity	1.000 1.000 L.S	
	0300110/2021_2022	'		To	Tota	-		
				To	tal Deducte	-	1.000 L.S	
			Sá	To	otal Deducte Net Tota	d Quantity	1.000 L.S 0.000 L.S 1.000 L.S	000.00
SI No	Description	No	Sa		otal Deducte Net Tota	d Quantity	1.000 L.S 0.000 L.S 1.000 L.S	000.00 Remark
SI No		No	L	ay 1.000 L.S	Net Tota  @ Rs 2500	d Quantity al Quantity 0.00 / L.S	1.000 L.S 0.000 L.S 1.000 L.S Rs 25	
SI No		No 4 CIN ation by me lepth, 1.5 m	/IL WORK	BFOR LAMP  neans (Hydings well as 10	Net Tota  @ Rs 2500  D  POST  raulic excar	d Quantity al Quantity 0.00 / L.S  CF	1.000 L.S 0.000 L.S 1.000 L.S Rs 25 Quantity  ual means of disposal of	Remark  Over area excavate

5	5.9.1 Centering and shutt columns, etc for ma  5.22.6 Steel reinforcement	Other Er  P  ering including ss concrete  2	Say g strutting, et 2.000	y 0.600 cum	Net Total  Net Total  Rs 8535  Dival of form  Total  Deducte  Net Total  Net Total  Met Total  Met Total  Met Total  Met Total	al Quantity 5.27 / cum for:Foundat 1.2 al Quantity d Quantity al Quantity 3.24 / sqm	4.800 sqm 0.000 sqm 4.800 sqm Rs 15	21.16 s, bases					
4	Centering and shutt	Other Er  Print including ss concrete	Say Say Strutting, et	y 0.600 cum	Total Deducte Net Total Oval of form  Total Otal Deducte Net Total	d Quantity al Quantity 5.27 / cum for:Foundat 1.2 al Quantity d Quantity al Quantity	0.600 cum 0.000 cum 0.600 cum Rs 51 tions, footing 4.800 4.800 sqm 0.000 sqm 4.800 sqm	21.16 s, bases					
4	Centering and shutt	Other Er  Print including ss concrete	Say strutting, et	y 0.600 cum	Total Deducte Net Total Oval of form  Total Otal Deducte	d Quantity al Quantity 5.27 / cum for:Foundat 1.2 al Quantity ed Quantity	0.600 cum 0.000 cum 0.600 cum Rs 51 tions, footing 4.800 4.800 sqm 0.000 sqm	21.16 s, bases					
4	Centering and shutt	Other Er  Print including ss concrete	Say strutting, et	y 0.600 cum	Total Deducte Net Total  Oval of form  Total	d Quantity al Quantity 5.27 / cum for:Foundat 1.2 al Quantity	0.600 cum 0.000 cum 0.600 cum Rs 51 tions, footing 4.800 4.800 sqm	21.16 s, bases					
4	Centering and shutt	Other Er  Print including ss concrete	Say strutting, et	ng Org	Total Deducte  Net Total  O Rs 8535  Oval of form	d Quantity al Quantity 5.27 / cum for:Foundat	0.600 cum 0.000 cum 0.600 cum Rs 51	21.16 s, bases					
4	Centering and shutt	Other Er  Print including ss concrete	Say strutting, et	ng Org	Total Deducte  Net Total  @ Rs 8535	d Quantity al Quantity 5.27 / cum for:Foundat	0.600 cum 0.000 cum 0.600 cum Rs 51	21.16					
4	Centering and shutt	Other Er	ngineeri	ng Org	Total Deducte  Net Total  @ Rs 8535	d Quantity al Quantity 5.27 / cum	0.600 cum 0.000 cum 0.600 cum Rs 51	21.16					
			ngineeri	ng Org	Total Deducte	ed Quantity al Quantity	0.600 cum 0.000 cum 0.600 cum	1					
			Vibra Hair	na Orac	Total Deducte	ed Quantity	0.600 cum	1					
			Vibra Hair	na Orac	Tota	ne	0.600 cum						
			Vibra Hair	a sup		al Quantity		1					
		_	0.500	0.500	1.200		0.600						
3	5.1.3 Providing and layin centering, shuttering sand : 4 graded stor	g, finishing and	d reinforcem 20 mm nomi	ent - All wor			•						
			Say	y 0.113 cum	n @ Rs 6772	2.67 / cum	Rs 7	65.31					
		al Quantity	0.113 cum	1									
			n.	To	otal Deducte	ed Quantity	0.000 cum						
					1	⊥ al Quantity	0.113 cum	1					
	shuttering - All work nominal size)	k up to plinth	level:1:4:8 (** 0.750	1 cement : 4	4 coarse sa	and : 8 grad	led stone ag	gregate					
2	4.1.8 Providing and laying	g in position co		shuttering - All work up to plinth level:1:4:8 (1 cement : 4 coarse sand : 8 gr									
	4.4.0		ement concr	ete of speci	ified grade 6								
	110			ay 1.350 cur				87.15					
	110			•	m @ Rs 212			87.15					
	110			ay 1.350 cui	m @ Rs 212	al Quantity 2.70 / cum	Rs 2	87.15					

				K			1	TOTAL Rs	
				Ď-	Lumpsum	for round off		0.00	
			ther Er	ngineer	ing Org	anis Total	ns	4344632.0	0
				Amount res	erved for GS	ST payments		0.00	
				P	rovision for	GST paymen	ts (in %) @	0.	.0%
		Lu	mp-Sum To	otal	ASA.	13 58	1	Rs 39403.79	9
Remark			16	7 GST	ON CENTA	GE@18%			
	SI No	Descri		No	R L X	В	D	CF	Quantity
		Lui	mp-Sum To	111		)	F	Rs 218909.9	)4
Remark				//6	6 centage@	6%			
	SI No	Descri	•	No	L	В	D	CF	Quantity
		Lui	mp-Sum To		1@12%			Rs 437819.8	Ω
SI No	Descr	ption	No	F CS	В Т@12%	D	CF	Quantity	Remark
		I				@ Rs 97.69			930.70
						Net Tota	al Quantity	30.000 kil	ogram
					Т	otal Deducte	d Quantity	0.000 kilo	gram
						Tota	al Quantity	30.000 kil	ogram
	quantity vid	e item no.3	0.6				50.0	30.000	50Kg/ cubic metre

(Cost Index Applied for this estimate is 34.75%)